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QUESTION 1

A network engineer needs to apply Layer 2 port security on an existing N-Series switch. The customer wants to prevent
end-users from plugging in their personal laptop in a LAN port at their desk. The company has confirmed that they want
to hardset the security to ensure that security only applies to company-supplied computers. The customer has
confirmed that computers will not be moving from desk to desk. A total of 10 systems are currently connected. The
customer has stated that all switchports must be configured as well. If any other device is plugged in, there will be no
network connectivity.

Which additional information must be provided to the engineer to meet the deployment guidelines?

A. the media access control addresses of all devices connected to the switch

B. the dotlp values for all devices connected to the switch

C. the Internet Protocol addresses of all devices connected to the switch

D. the fully qualified domain names of all devices connected to the switch

Correct Answer: A

QUESTION 2

M\ Exhibit
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Refer to the exhibit.

A customer plans to deploy a two-tier OSPF ECMP Core in the configuration shown. All uplinks to the
spine are 40Gbps. All uplinks to the leaves are 10Gbps.

What should be the oversubscription rate for the spine?

A.10:1

B.2:1
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C. 11
D. 4:1

Correct Answer: B

QUESTION 3

On an S-Series switch, what two events occur when a static null route has been configured in the system to drop a
packet? (Choose two.)

A. Null route is installed in the PBR table to drop the packet
B. Null route is saved into the running configuration.

C. Null route is installed in the ACL table with deny statement.
D. Null route is installed in the IP forwarding table.

Correct Answer: BD

QUESTION 4

Refer to the exhibit.
Two S-Series switches have been configured as a VLT Pair.

Which three conclusions should be made based on the output shown from the first peer switch? (Choose three.)
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A. The domain ID was administratively defined during the configuration of VLT.

B. Spanning-tree has been disabled to ensure that no VLT loops occur.

C. The System MAC was automatically defined.

D. The peer link is down.

E. The restoration of VLT ports after a system has been rebooted has been automatically configured.

F. The command back-up destination has not been applied.

Correct Answer: ACD

QUESTION 5

Latest DNDNS-200 Dumps | DNDNS-200 PDF Dumps | DNDNS-200 Practice Test 41/5


https://www.passapply.com/dndns-200.html
https://www.passapply.com/dndns-200.html
https://www.passapply.com/dndns-200.html

VCE & PDF https://www.passapply.com/dndns-200.html
2024 Latest passapply DNDNS-200 PDF and VCE dumps Download
PassApply.com

Refer to the exhibit.

On switch S4820-1, commands are entered. The associated output is as shown.

S4820-1#show spanning-tree pvst vlan 2

VLAN 2

Root ldentifier has priority 32768, Address 001.e88a.feca

Root Bridge hello time 2, max age 20, forward delay 15

Bridge |dentifier has priority 32768, Address 0001.e88b.2870

Configured hello time 2, max age 20, forward delay 15

Current root has priority 32768, Address 0001.e88a.feca

Number of topology changes 2, last chanhe occurred 00:08:11 ago on Te 0/21
S4820-1#show spanning-tree pvst vlan 3

VLAN 3

Root Identifier has priority 32768, Address 0001.e88a.feca

Root Bridge hello time 2, max age 20, forward delay 15

Bridge |dentifier has priority 32768, Address 0001.e88b.2870

Configured hello time 2, max age 20, forward delay 15

Current root has priority 32768, Address 001.e88a.feca

Number of topology changes 2, last change occurred 00:09:43 ago on Te 0/21

A network engineer enters the following command:
S4820-1 (conf-pvst)#vlan 2 bridge-pricrity 4096

What correctly defines the state of the Root Bridge for VLAN 2 and VLAN 3?
A. VLAN 2 Root Bridge ?S4820-2VLAN 3 Root Bridge ?S4820-2
B. VLAN 2 Root Bridge ?S4820-2VLAN 3 Root Bridge ?S4820-1
C. VLAN 2 Root Bridge ?S4820-1VLAN 3 Root Bridge ?S4820-1
D. VLAN 2 Root Bridge ?S4820-1VLAN 3 Root Bridge ?S4820-2

Correct Answer: B
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